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（120分钟）
注意事项
一、 将自己的校名、姓名、学校代号、准考证号写在答题纸和作文纸上。考试结束后，把试题册、答题纸和作文纸放在桌上。教师收卷后才可离开考场。试题册、答题纸和作文纸均不得带走。
二、 仔细读懂题目的说明。

三、 在120分钟内答完全部试题，不得拖延时间。
四、 多项选择题的答案一定要写在答题纸上。作文写在作文纸上。凡是写在试题册上的答案一律作废。
五、 多项选择题只能选一个答案，多选作废。选定答案后，用HB浓度以上的铅笔在相应字母的中部划一条横线。正确方法是：
［A］ ［B］ ［C］［D］
使用其他符号答题者不给分。划线要有一定粗度，浓度要盖过红色。六、 如果要改动答案，必须先用橡皮擦净原来选定的答案，然后再按上面的规定重新答题。
英语四级试题（试题册）
Part Ⅰ Writing (30 minutes)

注意：此部分试题在答题卡 1上。
Part ⅠWriting (30 minutes) 

Directions: For this part, you are allowed 30 minutes to write a short essay on the topic of Western Festival: Welcome or Reject? You should write at least 120 words following the outline given below:

1. 西方的节日越来越深的影响着许多中国年青人的生活。

2. 有人认为西方的节日使很多中国的传统日益淡化。

3. 你的观点。



Western Festival: Welcome or Reject?

Part II Reading Comprehension (Skimming and Scanning)     (15 minutes)
Directions:  In this part, you will have 15 minutes to go over the passage quickly and answer the questions on Answer Sheet 1. 

For questions 1-7, mark 

Y(for YES) if the statement agrees with the information given in the passage; 

N(for NO) if the statement contradicts the information given in the passage; 

NG(for NOT GIVEN) if the information is not given in the passage.

For questions 8-10, complete the sentences with the information given in the passage. 

Our dreams combine verbal, visual and emotional stimuli into a sometimes broken, nonsensical but often entertaining story line. We can sometimes even solve problems in our sleep. Or can we? Many experts disagree on exactly what the purpose of our dreams might be. Are they strictly random brain impulses, or are our brains actually working through issues from our daily life while we sleep -- as a sort of coping mechanism? Should we even bother to interpret our dreams? Many say yes, that we have a great deal to learn from our dreams.
Why do we Dream?

For centuries, we've tried to figure out just why our brains play these nightly shows for us. Early civilizations thought dream worlds were real, physical worlds that they could enter only from their dream state. Researchers continue to toss around many theories about dreaming. Those theories essentially fall into two categories: 

●  The idea that dreams are only physiological stimulations

●  The idea that dreams are psychologically necessary

Physiological theories are based on the idea that we dream in order to exercise various neural connections that some researchers believe affect certain types of learning. Psychological theories are based on the idea that dreaming allows us to sort through problems, events of the day or things that are requiring a lot of our attention. Some of these theorists think dreams might be prophetic. Many researchers and scientists also believe that perhaps it is a combination of the two theories.
Dreaming and the Brain

When we sleep, we go through five sleep stages. The first stage is a very light sleep from which it is easy to wake up. The second stage moves into a slightly deeper sleep, and stages three and four represent our deepest sleep. Our brain activity throughout these stages is gradually slowing down so that by deep sleep, we experience nothing but delta brain waves -- the slowest brain waves. About 90 minutes after we go to sleep and after the fourth sleep stage, we begin REM sleep. 

Rapid eye movement (REM) was discovered in 1953 by University of Chicago researchers Eugene Aserinsky, a graduate student in physiology, and Nathaniel Kleitman, Ph.D., chair of physiology. REM sleep is primarily characterized by movements of the eyes and is the fifth stage of sleep. 
How to Improve Your Dream Recall

It is said that five minutes after the end of a dream, we have forgotten 50 percent of the dream's content. Ten minutes later, we've forgotten 90 percent of its content. Why is that? We don't forget our daily actions that quickly. The fact that they are so hard to remember makes their importance seem less. 
There are many resources both on the Web and in print that will give you tips on how to improve your recall of dreams. Those who believe we have a lot to learn about ourselves from our dreams are big proponents of dream journals. Here are some steps you can take to increase your dream recall: 

●  When you go to bed, tell yourself you will remember your dreams.

●  Set your alarm to go off every hour and half so you'll wake up around the times that you leave REM sleep -- when you're most likely to remember your dreams. (Or, drink a lot of water before you go to bed to ensure you have to wake up at least once in the middle of the night!) 

●  Keep a pad and pencil next to your bed. 

●  Try to wake up slowly to remain within the "mood" of your last dream. 

Common Dream Themes and Their Interpretations

●  Being naked in public
Most of us have had the dream at some point that we're at school, work or some social event, and we suddenly realize we forgot to put on clothes! Experts say this means: 

◆ We're trying to hide something (and without clothes we have a hard time doing that).
◆ We're not prepared for something, like a presentation or test (and now everyone is going to know -- we're exposed!). 

If we're naked but no one notices, then the interpretation is that whatever we're afraid of is unfounded. If we don't care that we're naked, the interpretation is that we're comfortable with who we are.
●  Falling
You're falling, falling, falling... and then you wake up. This is a very common dream and is said to symbolize insecurities and anxiety. Something in your life is essentially out of control and there is nothing you can do to stop it. Another interpretation is that you have a sense of failure about something. Maybe you're not doing well in school or at work and are afraid you're going to be fired or expelled. Again, you feel that you can't control the situation. 

●  Being chased
The ever-popular chase dream can be extremely frightening. What it usually symbolizes is that you're running away from your problems. What that problem is depends on who is chasing you. It may be a problem at work, or it may be something about yourself that you know is destructive. For example, you may be drinking too much, and your dream may be telling you that your drinking is becoming a real problem. 

●  Taking an exam (or forgetting that you have one)
This is another very common dream. You suddenly realize you are supposed to be taking an exam at that very moment. You might be running through the hallways and can't find the classroom. This type of dream can have several variations that have similar meanings. (Maybe your pen won't write, so you can't finish writing your answers.) What experts say this may mean is that you're being scrutinized about something or feel you're being tested -- maybe you're facing a challenge you don't think you're up to. You don't feel prepared or able to hold up to the scrutiny. It may also mean there is something you've neglected that you know needs your attention. 

●  Flying
Many flying dreams are the result of lucid dreaming (清醒梦). Not all flying dreams are, however. Typically, dreaming that you are flying means you are on top of things. You are in control of the things that matter to you. Or, maybe you've just gained a new perspective on things. It may also mean you are strong willed and feel like no one and nothing can defeat you. If you are having problems maintaining your flight, someone or something may be standing in the way of you having control. If you are afraid while flying, you may have challenges that you don't feel up to. 

●  Running, but going nowhere
This theme can also be part of the chasing dream. You're trying to run, but either your legs won't move or you simply aren't going anywhere -- as if you were on a treadmill (踏车). According to some, this dream means you have too much on your plate. You're trying to do too many things at once and can't catch up or ever get ahead. 

1. This passage mainly discusses different theories about why we have dreams at night.

2. Early theories held that dreams were reflection of people’s real, physical worlds.

3. According to physiological theories, dreaming allows us to sort through problems or events of the day that require our attention.

4. REM occurs at the third and fourth stage during which we experience the deepest sleep.

5. The reason why dreams do not seem important is that they are very difficult to remember.
6. Trying to get recorded what you said or did in your dream can help increase your dream recall.

7. If a person dreams he is naked but is not noticed by others, it means what he is afraid of is groundless.
注意：此部分试题在答题卡1上作答；8－10题在答题卡1上。

1.［Y］［N］［NG］  2.［Y］［N］［NG］ 3.［Y］［N］［NG］ 4.［Y］［N］［NG］

5.［Y］［N］［NG］  6.［Y］［N］［NG］ 7.［Y］［N］［NG］

8. Youre falling, falling, falling in your dream, which is said to symbolize         .

9. Being chased in a dream usually means that you’re escaping from your         .

10. One of the interpretations for flying dreams is that you are           and nothing can defeat you.
Part III Listening Comprehension (35 minutes)

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversation and the questions will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C) and D), and decide which is the best answer. Then mark the corresponding letter on Answer Sheet 2 with a single line through the center.

注意：此部分试题请在答题卡2上作答。

11.
A) Customer and salesman.


B) Colleagues.


C) Subordinate and boss.


D) Classmates.

12.
A) They get a bargain right away.


B) They have a look at the advertisement.


C) They sell their TV set.


D) They go and buy a big TV set.

13.
A) The student miss their professor very much.


B) The professor didn’t give the lesson.


C) A new course will begin next Monday.


D) Some homework was assigned to the students.

14.
A) Families with cars.


B) Americans’ heavy dependence on cars.


C) Roads and highways.


D) Traffic problems in America.

15.
A) He has edited three books.


B) He has bought the wrong edition.


C) He has lost half of his money.


D) He has found the book that will be used.

16.
A) It’s too expensive.


B) It isn’t needed.


C) It should be built.


D) A college would be better.

17.
A) She didn’t know her daughter could sing so well.


B) She sings better than her daughter.


C) She doesn’t like her daughter.


D) She herself doesn’t have a good voice.

18.
A) The woman is being interviewed by a reporter.


B) The woman is asking for a promotion.


C) The woman is taking an examination.


D) The woman is applying for a job.

Questions 19 to 22 are based on the conversation you have just heard.

19.
A) Their office hours.


B) A twice-yearly regular visit service contract.


C) The installation and maintenance of a new system.


D) Cost of the engineers.

20.
A) The workers can do it during normal office hours.


B) They can close the office on next Saturday for the workers to do it.


C) The workers can do it whenever they like.


D) The workers can do it on the 27th.

21.
A) They will provide free maintenance.


B) They can come to check the whole system twice in the first year.


C) In the first 12 months after the installation the maintenance is free.


D) They don’t have to check until there is anything wrong with the system.

22.
A) It is expensive to pay for the twice-yearly visit.


B) The new systems are extremely reliable.


C) The woman will pay for the time of the engineer who comes to fix the problem.


D) They will draft a service contract for the maintenance of the new system.

Questions 23 to 25 are based on the conversation you have just heard.

23.
A) How to apply for a job.


B) How to have a good phone manner.


C) How to be a good Personal Assistant.


D) How to make advertisements.

24.
A) Working in an advertising company.


B) Working in a computer company.


C) Working as a typist.


D) Working as a secretary anywhere.

25.
A) She should be good at receiving visitors.


B) She should have a good phone manner.


C) She should have good looks.


D) She should have a good filing system.

Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A),B),C) and D). Then mark the corresponding letter on Answer Sheet 2 with a single line through the center.

注意：此部分试题请在答题卡2上作答。

Passage One

Question 26 to 28 are based on the passage you have just heard.

26.
A) To provide Social Security benefits such as sickness benefit.


B) To pay for a standard charge for prescriptions for medicine.


C) To provide free medical treatment for all patients who wish to participate in it.


D) To pay for the stamps on an insurance card.

27.
A) The cost of retirement pensions, unemployment benefit and maternity benefit has to be 

borne ty the employers.


B) people have to pay for treatment and food in hospital.


C) People have to pay for normal charges for dental treatment and glasses.


D) people have to pay for the stamps on the insurance card.

28.
A) He must go to see his doctor.


B) He must register with a General Practitioner.


C) He must have a letter from his G.P. to take to a hospital.


D) His doctor can’t treat him and he needs more expert help.

Passage Two

Questions 29 to 31 are based on the passage you have just heard.

29.
A) The advantages of electric cars.


B) The strengths and weaknesses of electric cars.


C) How electric cars function.


D) How electric cars can help the transportation.

30.
A) The metal corrosion that contaminates the air.


B) The leakage of chemicals into the ground.


C) Untreated batteries, which can cause acid burns.


D) The rust and the old cars take up space in the landfills.

31.
A) They are too expensive.


B) They are unavailable to buy.


C) People like gas cars and won’t change.


D) It isn’t explained yet.

Passage Three

Question 32 to 35 are based on the passage you have just heard.

32.
A) The war was rapidly reflected in American literature.


B) The war was hardly reflected in American literature.


C) Hemingway was the only author to write about the war.


D) American literature was slow to reflect the war.

33.
A) During the 1930s.


B) In 1929.


C) Not until the late 1930s.


D) In the early 1920s.

34.
A) War.


B) Courage.


C) Depression.


D) Sun.

35.
A) He was not affected at all.


B) He was greatly affected and wrote some first-class works dealing with it.


C) It had little and indirect influence on Hemingway’s writing.


D) He didn’t publish stories during the Great Depression.

Section C

Directions: In this section, you will hear a passage three times. When the passage is read for the first time, you should listen carefully for its general idea. When the passage is read for the second time, you are required to fill in the blanks numbered from 36 to 43 with the exact words you have heard. For blanks numbered from 44 to 46 you are required to fill in the missing information. For these blanks, you can either use the exact words you have just heard or wirte down the main points in your own words. Finally, when the passage is read for the third time, you should check what you have written.

注意：此部分试题在答题卡2上；请在答题卡2上作答。

We have been discussing how a computer works. Now let us turn to another (36)       : What are the uses of a computer? Many laymen have an (37)         picture of what computers are capable of Sometimes computers are called "electronic brains "and this is (38)       because no computer so far built can (39)         with the human brain in all respects. Let us take a look at the (40)        of computers in commerce and industry. Firstly, clerical work. Computers are very good for (41)          repetitive clerical work efficiently. We can take two examples of this. The first is the (42)        use of computers in handling payrolls, that is, paying employees. With details about each employee in it, the computer can make necessary (43)         and print out a pay slip. (44)        .Secondly, the use of computers in information systems.(45)       . The main computer store for British Airways Boadicea system has a constant record of the details of every flight. Thirdly, the computer as an aid to design planning. The example has to do with predicting the cost of a design if one were planning to build a road. (46)         .This information can be fed into a computer and the computer can be programmed to work out the cheapest route between two points.

答题卡2（Answer Sheet 2）

Part Ⅳ Reading Comprehension(Reading in Depth)         (25 minutes)
Section A 

Directions:  In this section, there is a passage with ten blanks. You are required to select one word for each blank from a list of choices given in a word bank following the passage. Read the passage through carefully before making your choices. Each choice in the bank is identified by a letter. Please mark the corresponding letter for each item on Answer Sheet 2 with a single line through the centre. You may not use any of the words in the bank more than once. 

Questions 47 to 56 are based on the following passage. 

A department store’s inputs include the land upon which the building is located, the labor of the employees, (47) ______ in the form of building, equipment and merchandise, and the management skills of the store managers. On a farm, the operation system is the transformation that occurs when a farmer’s (48) ______ (land, equipment, labor, etc.) are converted into such outputs as corn, wheat or milk. The exact form of the conversion process (49) ______ from industry to industry, but it is an (50) ______phenomenon that exists in every industry. Economists refer to this (51) ______ of resources into goods and services as the production function. For all operation systems, the general goal is to create some kind of value-added outputs that are worth more to consumers than just the sum of the inputs. To the consumers, the resulting products (52) ______ utility due to the form, the time, or the place of their availability from the conversion process.

     However, the process is subject to random changes. Unplanned or uncontrollable influences may cause the actual output to differ from planned output. Random fluctuations can arise from external disruption (fire, floods or lightning, for example) or from (53) ______ problems inherent in the conversion process. Inherent variability of equipment, material imperfections, and human errors all affect output quality (54)______. In fact, random variations are the rule rather than the exception in production processes; therefore, (55) _____ variation becomes a major management task.

     The function of the feedback is to provide (56) ______ linkages. Without some feedback of information, management personnel cannot control operations because they don' t know the results of their directions.
注意：此部分试题在答题卡2上作答。

	A) offer

B) capital

C) medium

D)difficult

E) varies


F) differently

G) proposal

H) transformation
	I) beautifully

J) economic

K) reducing

L) internal

M) inputs

N) afford


O) information


Section B 

Directions:  There are 2 passages in this section. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A), B), C) and D). You should decide on the best choice and mark the corresponding letter on Answer Sheet 2 with a single line through the centre. 

Passage One 

Questions 57 to 61 are based on the following passage. 

Most of the people who appear most often and most gloriously in the history books are great conquerors and generals and soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured（施肥）a field; but we know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the great cities of the world you will find the figure of a conqueror or a general or a soldier. And I think most people believe that the greatest countries are those that have beaten in battle the greatest number of other countries and ruled over them as conquerors. It is just possible they are, but they are not the most civilized.
Animals fight; so do savages (野蛮人); hence to be good at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized. Even being good at getting other people to fight for you and telling them how to do it most efficiently --- this, after all, is what conquerors and generals have done --- is not being civilized. People fight to settle quarrels. Fighting means killing, and civilized peoples ought to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the other side, and then saying that that side which has killed most has won. And it not only has won, but, because it has won, has been in the right. For that is what going to war means; it means saying that might is right.

That is what the story of mankind has on the whole been like. Even our own age has fought the two greatest wars in history, in which millions of people were killed or disabled. And while today it is true that people do not fight and kill each other in the streets --- while, that is to say, we have got to the stage of keeping the rules and behaving properly to each other in daily life --- nations and countries have not learnt to do this yet, and still behave like savages.

注意：此部分试题在答题卡2上作答。

57. In the opening sentence the author indicates that ________.

A) most history books were written by conquerors, generals and soldiers.

B) those who truly helped civilization forward is rarely mentioned in history books.

C) history books focus more on conquerors than on those who helped civilization forward.

D) conquerors, generals and soldiers should not be mentioned in history books.

58. In the author’s opinion, the countries that ruled over a large number of other countries are ________.

A) certainly both the greatest and the most civilized

B) neither the most influential nor the most civilized.

C) possibly the most civilized but not the most powerful.

D) likely the greatest in some sense but not the most civilized.

59. The meaning of “That is what going to war means; it means saying that might is right.”(Last sentence of Paragraph 2) is that ________.

A) those who fight believe that the winner is right and the loser wrong.

B) only those who are powerful have the right to go to war.

C) those who are right should fight against those who are wrong.

D) in a war only those who are powerful will win.

60. In the third paragraph, what the author wants to convey to us is that ________.

A) World War I and World War II are different from previous wars.

B) our age is not much better than those of the past.

C) modern time is not so civilized compared with the past.

D) we have fought fewer wars but suffered heavier casualties.

61. This passage is most likely taken from an article entitled ________.

A) War and World Peace

B) Creators of Civilization

C) Civilization and History

D) Who Should Be Remembered
Passage Two

Questions 62 to 66 are based on the following passage.

The motor vehicle has killed and disabled more people in its brief history than any bomb or weapon ever invented. Much of the blood on the street flows essentially from uncivil behavior of drivers who refuse to respect the legal and moral rights of others. So the massacre on the road may be regarded as a social problem.

In fact, the enemies of society on wheels are rather harmless people or ordinary people acting carelessly, you might say. But it is a principle both of law and common morality that carelessness is no excuse when one's actions could bring death or damage to others. A minority of the killers go even beyond carelessness to total negligence.

Researchers have estimated that as many as 80 per cent of all automobile accidents can be attributed to the psychological condition of the driver. Emotional upsets can distort drivers' reactions, slow their judgment, and blind them to dangers that might otherwise be evident. The experts warn that it is vital for every driver to make a conscious effort to keep one's emotions under control.

Yet the irresponsibility that accounts for much of the problem is not confined to drivers. Street walkers regularly violate traffic regulations; they are at fault in most vehicle walker accidents. And many cyclists even believe that they are not subject to the basic rules of the road.

    Significant legal advances have been made towards safer driving in the past few years. Safety standards for vehicle have been raised both at the point of manufacture and through periodic road-worthiness inspections. In addition, speed limits have been lowered. Due to these measures, the accident rate has decreased. But the accident experts still worry because there has been little or no improvement in the way drivers behave. The only real and lasting solution, say the experts, is to convince people that driving is a skilled task requiring constant care and concentration. Those who fail to do all these things pose a threat to those with whom they share the road.

注意：此部分试题在答题卡2上作答。

62. The word “massacre” in line 3 paragraph one means _____ 
   A) mass-killing.
   B) disaster.
   C) tragedy.

   D) accident.

63. What is the author's main purpose in writing the passage?
   A) To show that the motor vehicle is a very dangerous invention.
   B) To promote understanding between careless drivers and street walkers.
   C) To discuss traffic problems and propose possible solutions.

   D) To warn drivers of the importance of safe driving.

64. According to the passage, traffic accidents may be regarded as a social problem because _____.
   A) autos have become most destructive to mankind                        

   B) people usually pay little attention to law and morality
C) civilization brings much harm to people
D) the lack of virtue is becoming more severe
65. Why does the author mention the psychological condition of the driver in Paragraph Three?
   A) To give an example of the various reasons for road accidents.
   B) To show how important it is for drivers to be emotionally healthy.
   C) To show some of the inaccurate estimations by researchers.
   D) To illustrate the hidden tensions in the course of driving.
66. Who are NOT mentioned as being responsible for the road accidents?
    A) Careless bicycle-riders.

    B) Mindless people walking in the street.
    C) Irresponsible drivers.
D) Irresponsible manufactures of automobiles.
Part V Cloze(15 minutes)

Directions:  There are 20 blanks in the following passage. For each blank there are four choices marked A), B), C) and D) on the right side of the paper. You should choose the ONE that best fits into the passage. Then mark the corresponding letter on Answer Sheet 2 with a single line through the centre.
注意：此部分试题在答题卡2上作答。

	Today the world's economy is going through two great changes, both bigger than an Asian financial crisis here or a European monetary union there.

    The first change is that a lot of industrial_67_is moving from the United States, Western Europe and Japan to _68 _countries in Latin America, South-East Asia and Eastern Europe. In 1950, the United States alone _69_ for more than half of the world's economy output. In 1990, its _70_ was down to a quarter. By 1990, 40% of IBM's employees were non-Americans; Whirlpool, America's leading _71_ of domestic 
appliances, cut its American labor force _72_ 10%. Quite  soon  now,  many  big  western
companies will have more _73_ (and customers) 
in poor countries than in rich _74_ . 

    The second great change is _75_, in the rich countries of the OECD, the balance of economic activity is _76_ from manufacturing to _77_. In 
the  United  States  and  Britain, the _78_ of
workers in manufacturing has _79_ since 1900 
from around 40% to barely half that  _80_  in
Germany and Japan, which rebuilt so many _81_ 
after 1945, manufacturing's share of jobs is now below 30%. The effect of the _82 is increased 
_83_ manufacturing moves from rich countries to 
the developing ones, _84_ cheap labor _85_ them 
a sharp advantage in many of the _86_ tasks required by mass production. 


	67. A. product      B. production
   C. products     D. productivity

68. A. other        B. small
   C. capitalistic   D. developing

69. A. accounted    B. occupied
   C. played     
 D. shared

70. A. output     
 B. development
   C. share     
 D. economy

71. A. state     
 B. consumer
   C. representative D. supplier

72. A. by     
 B. at
   C. through     D. in

73. A. products    B. market
   C. employees   D. changes

74. A. one     
 B. ones
   C. times     
 D. time

75. A. what     
 B. like
C. that     
 D. how

76. A. ranging      B. varying
   C. swinging     D. getting

77. A. producing    B. products
   C. servicing     D. services

78. A. proportion    B. number
   C. quantity      D. group

79. A. changed      B. gone
   C. applied       D. shrunk

80. A. Furthermore   B. Even
   C. Therefore     D. Hence

81. A. armies     
  B. weapons
   C. factories      D. countries

82. A. question      B. manufacturing
   C. shift     
  D. rebuilding

83. A. with     
  B. as
   C. given     
  D. if

84. A. while     
  B. whose
   C. who's     
  D. which

85. A. give     
  B. is giving
   C. gives     
  D. gave

86. A. repetitive     B. various
   C. creative      D. enormous



Part Ⅵ  Translation (5 minutes)

Directions: Complete the sentence on Answer Sheet 2 by translating into English the Chinese given in brackets.

注意：此部分试题在答题卡2上；请在答题卡2上作答。

87.                 （任何国家无论在什么情况下都不可以） have the right to use nuclear weapons.

88. It’s essential that                           (他把一切准备好) before the examination .

89. The population of America is not large                                 (与中国相比).

90. The beggar accepted the one-dollar note                      (甚至连一声谢谢都没说).

91. Life is full of risks                                             (不论你是否喜欢).

参考答案：

Part 1  作文：(略)

Part 2  快速阅读

1. N   2. Y   3. N   4. N   5. Y   6. NG   7. Y
8. insecurities and anxiety    9. problems    10.strong willed
Part 3  听力

Section A 

（11－15） BBBBB   （16－20） CDDCD  （21－25）CCCBC  

Section B 

（26－30） CDBAB   （31－35） DDBBC

Section C

36. topic       37. exaggerated     38. confusing     39. compete

40. application  41. handling        42. widespread    43. calculation

44. Another example of the same sort of process has been the use of computers by banks to provide up-to-date records of client’s accounts.

45. The most successful example is perhaps the use of computers by airlines to control seat reservation an provide information about flights.

46. One could take a series of photographs of the area, from which, the amount of rise and fall of the landscape can be analyzed within a few inches.

Part 4  阅读（Reading in Depth）  

Section A

（47-51）B) capital;
M) inputs; 
E) varies;     J) economic;

H) transformation

（52-56）A) offer ;
L) internal ;
F)differently ;
 k) reducing;     O) information;

Section B 

（57-61）BDABC            （62－66）ACBBD

Part 5  完型

(67-76)  BDACD
ACBCB

(77-86)  DADBC
CBBCA

Part 6 翻译

87. Under no circumstances should any nation

88. get everything ready

89. as compared with that of China

90. without so much as saying thanks

91. whether you like it or not
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